VAR COMPENSATION CALCULATION


Before any initiative can begin for VAR Compensation, a 15 minute average buss voltage reading (VA) and a 15 minute desired bus voltage reading (VR) must be stored in an accounting database similar to the MW and MVAR information currently stored within the EPS meters.     

$   =   PMVAR   *   ABS(MVARHRS)   *   FVAR
Where:
PMVAR
=
Value of Reactive Power determined in $/MVARHRS


MVARHRS
=
Megavarhours generated (+) or absorbed (-) during the 



settlement period.


FVAR
=
Adjustment Factor determined as follows:


FVAR
=
1


if VA > VR and MVARHRS < 0




=
1-[20(VA - VR)]
if VA > VR and MVARHRS > 0





        VR


=
1


if VA < VR and MVARHRS > 0 


=
1-[20(VA - VR)]
if VA < VR and MVARHRS < 0





        VR


Where:
VA = Average voltage at generator buss during the 



settlement period.



VR = Desired voltage at generator buss determined by 


ERCOT.

